>> Perform_CTREE(100,'N',[1800 1899])
In confusion matrices, rows indicate predictions, columns indicate truths
Training on 1161
Validating on 1161
== Nationality ==

Accuracy =

    0.5211


ExpectedAccuracy =

    0.3006


Conf =

    0.4419    0.2403         0    0.2222
    0.2868    0.4729         0    0.1292
         0         0         0         0
    0.2713    0.2868         0    0.6486


UN =

  4×1 cell array

    'Australian'
    'British'
    'Other'
    'USA'

>> Perform_CTREE(100,'N',[1800 1899])
In confusion matrices, rows indicate predictions, columns indicate truths
Training on 1161
Validating on 1161
== Nationality ==

Accuracy =

    0.5271


ExpectedAccuracy =

    0.3109


Conf =

    0.5633    0.3333         0    0.2532
    0.1783    0.3850         0    0.1137
         0         0         0         0
    0.2584    0.2817         0    0.6331


UN =

  4×1 cell array

    'Australian'
    'British'
    'Other'
    'USA'

>> Perform_CTREE(100,'N',[1800 1899])
In confusion matrices, rows indicate predictions, columns indicate truths
Training on 1161
Validating on 1161
== Nationality ==

Accuracy =

    0.5280


ExpectedAccuracy =

    0.2946


Conf =

    0.4651    0.2506         0    0.2196
    0.3127    0.4858         0    0.1473
         0         0         0         0
    0.2222    0.2636         0    0.6331


UN =

  4×1 cell array

    'Australian'
    'British'
    'Other'
    'USA'

>> Perform_CTREE(100,'N',[1800 1899])
In confusion matrices, rows indicate predictions, columns indicate truths
Training on 1161
Validating on 1161
== Nationality ==

Accuracy =

    0.5202


ExpectedAccuracy =

    0.2937


Conf =

    0.5633    0.3359         0    0.2868
    0.3049    0.5039         0    0.2196
         0         0         0         0
    0.1318    0.1602         0    0.4935


UN =

  4×1 cell array

    'Australian'
    'British'
    'Other'
    'USA'

>> Perform_CTREE(100,'N',[1800 1899])
In confusion matrices, rows indicate predictions, columns indicate truths
Training on 1161
Validating on 1161
== Nationality ==

Accuracy =

    0.5357


ExpectedAccuracy =

    0.3066


Conf =

    0.4910    0.2300         0    0.2403
    0.2765    0.5116         0    0.1550
         0         0         0         0
    0.2326    0.2584         0    0.6047


UN =

  4×1 cell array

    'Australian'
    'British'
    'Other'
    'USA'

>> Perform_CTREE(100,'N',[1800 1899])
In confusion matrices, rows indicate predictions, columns indicate truths
Training on 1161
Validating on 1161
== Nationality ==

Accuracy =

    0.5263


ExpectedAccuracy =

    0.3152


Conf =

    0.5142    0.2481         0    0.2300
    0.1964    0.4057         0    0.1111
         0         0         0         0
    0.2894    0.3463         0    0.6589


UN =

  4×1 cell array

    'Australian'
    'British'
    'Other'
    'USA'

>> Perform_CTREE(100,'N',[1800 1899])
In confusion matrices, rows indicate predictions, columns indicate truths
Training on 1161
Validating on 1161
== Nationality ==

Accuracy =

    0.5512


ExpectedAccuracy =

    0.2989


Conf =

    0.3514    0.1344         0    0.1008
    0.4393    0.7054         0    0.3023
         0         0         0         0
    0.2093    0.1602         0    0.5969


UN =

  4×1 cell array

    'Australian'
    'British'
    'Other'
    'USA'

>> Perform_CTREE(100,'N',[1800 1899])
In confusion matrices, rows indicate predictions, columns indicate truths
Training on 1161
Validating on 1161
== Nationality ==

Accuracy =

    0.5013


ExpectedAccuracy =

    0.2842


Conf =

    0.5581    0.3669         0    0.1938
    0.1835    0.4367         0    0.2972
         0         0         0         0
    0.2584    0.1964         0    0.5090


UN =

  4×1 cell array

    'Australian'
    'British'
    'Other'
    'USA'

>> Perform_CTREE(100,'N',[1800 1899])
In confusion matrices, rows indicate predictions, columns indicate truths
Training on 1161
Validating on 1161
== Nationality ==

Accuracy =

    0.5254


ExpectedAccuracy =

    0.3023


Conf =

    0.6176    0.4367         0    0.3256
    0.2429    0.4031         0    0.1189
         0         0         0         0
    0.1395    0.1602         0    0.5556


UN =

  4×1 cell array

    'Australian'
    'British'
    'Other'
    'USA'

>> Perform_CTREE(100,'N',[1800 1899])
In confusion matrices, rows indicate predictions, columns indicate truths
Training on 1161
Validating on 1161
== Nationality ==

Accuracy =

    0.5409


ExpectedAccuracy =

    0.3230


Conf =

    0.4858    0.2016         0    0.2351
    0.2868    0.5013         0    0.1292
         0         0         0         0
    0.2274    0.2972         0    0.6357


UN =

  4×1 cell array

    'Australian'
    'British'
    'Other'
    'USA'
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